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SCIENCE & TECHNOLOGY
(Summative Assessment - II)

Time : 3 Hrs. Maximum Marks : 80

General Instructions :
1. The question paper consists of 2 sections–Section A (having 21

questions) and Section B (having 09 questions). You are to attempt
both the sections.

2. All questions are compulsory.
3. There is no overall choice. However, internal choices have been

provided in 3 questions of 5 marks category and 3 questions of 2
marks category.

4. All questions of Section A and all questions of Section B are to be
attempted separately.

5. Questions 1 to 5 in Section A and Questions 22 & 23 in Section
B are multiple choice type questions and carry one mark each.

6. Questions 6 to 11 in Section A and Questions 24 & 25 in Section
B are short answer type questions and carry 2 marks each.

7. Questions 12 to 17 in Section A and Questions 26 to 28 in Section
B are also short answer type questions and carry 3 marks each.

8. Questions 18 to 21 in Section A and Questions 29 & 30 in Section
B are long answer type questions and carry 5 marks each.

lkekU; funsZ'k %
1- bl iz'u i=k ds nks [kaM gSaμ[k.M ^v* (ftlesa 21 iz'u gSa) vkSj [k.M ^c* (ftlesaa

9 iz'u gSa)A vki dks nksuksaa gh [k.Mksa osQ iz'u djus gSaA
2- lHkh iz'u vfuok;Z gSaA
3- lkefxzd fodYi ugha fn;k x;k gSA rFkkfi 5 vad dh Js.kh osQ 3 iz'uksa rFkk 2

vad dh Js.kh osQ 3 iz'ukasa esaa vkarfjd fodYi iznku fd, x, gSaA
4- [kaM ^v* osQ lHkh iz'u vkSj [kaM ^c* osQ lHkh iz'u vyx&vyx djus gSaA
5- [kaM ^v* esa iz-la- 1 ls 5 rFkk [kaM ^c* esa iz-la- 22 vkSj 23 MCQ iz'u gSa

,oa buesa ls izR;sd dk 1 vad gSA
6- [kaM ^v* esa iz-la- 6 ls 11 rFkk [kaM ^c* esa iz-la- 24 vkSj 25 y?kwÙkjkRed iz'u

gSa ,oa buesa ls izR;sd 2 vadkas dk gSA
7- [kaM ^v* esa iz-la- 12 ls 17 rFkk [kaM ^c* esa iz-la- 26 ls 28 Hkh y?kwÙkjkRed

iz'u gSa ,oa buesa ls izR;sd 3 vadksa dk gSA
8- [kaM ^v* esa iz-la- 18 ls 21 rFkk [kaM ^c* esa iz-la- 29 vkSj 30 nh?kZ mÙkjkRed

iz'u gSa ,oa buesa ls izR;sd 5 vadksa dk gSA
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Section – A  ([kaM&v)

1. Louis Braille developed a system for visually challanged
persons known as Braille system. It is a system
(a) based on the sense of hearing
(b) having a collection of 36 dots
(c) based on a coded language
(d) that uses a typewriter

yqbl czsy us n`f"V jfgr O;fDr;ksa ds fy, ,d iz.kkyh fodflr dh ftls czsy

iz.kkyh dgrs gSaA ;g ,d &
(a) Jo.k laosnuk ij vkèkkfjr iz.kkyh gSA

(b) 36 fcUnqvksa dk ladyu gSA
(c) izrhdkRed Hkk"kk ij vkèkkfjr iz.kkyh gSA

(d) VkbijkbVj iz;qDr djus okyh iz.kkyh gSA

2. Polymer used for making electrical switches is -
(a) Terylene (b) Bakelite
(c) Melamine (d) Nylon

fo|qr fLop cukus esa iz;ksx gksus okyk cgqyd gS &

(a) Vsjhyhu (b) cSdsykbV
(c) eSykekbu (d) uk;ykWu

3. Out of the following, the constellation also known as the 'Great
Bear', is :
(a) Ursa Major (b) Ursa Minor
(c) Orion (d) Cassiopeia

fuEufyf[kr rkjke.My esa fdls ^xzsV ch;j* ds uke ls Hkh tkuk tkrk gS &

(a) mlkZ estj (b) mlkZ ekbuj
(c) vkafn;u (d) dfl;ksfi;k

4. A synthetic fibre used for making soft drink bottles is -
(a) PET (b) Terylene
(c) Nylon (d) Rayon

'khry is; inkFkks± dh cksrys cukus esa iz;ksx gksus okys Ñf=ke js'ks gSa &

(a) ih-bZ-Vh- (b) Vsjhyhu
(c) uk;ykWu (d) js;kWu
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5. Pole star appears to be stationary in all seasons because it
(a) does not rotate on its own axis
(b) happens to lie on the axis of rotation of the earth
(c) happens to lie in the southern hemisphere
(d) is the nearest of all the stars.

èkzqo rkjk lHkh ½rqvksa esa ,d txg ij gh fn[kkbZ nsrk gS D;ksafd ;g rkjk &

(a) vius v{k ij ugha ?kwerk gSA

(b) i`Foh ds ifjHkze.k v{k ij fLFkr gSA

(c) nf{k.kh xksykèkZ esa gSA

(d) lHkh rkjksa esa fudVre gSA

6. A coin is lying in a tub full of water. Arjun was supposed to
pick it up in 'one go'. Considering it a very easy task, he tried
it several times but failed.
Why did he fail repeatedly?

,d flDdk ikuh ls Hkjs gq, Vc esa iM+k gqvk gSA vtqZu dks ml flDds dks

'kh?kzrk ls mBkuk FkkA bl dk;Z dks vklku ekurs gq, mlus dbZ ckj dksf'k'k

dh ijUrq vliQy jgkA

og yxkrkj vliQy D;ksa gqvk\

OR (vFkok)

Shalu purchased a CD from a shop. While coming home, she
was thrilled to see a pattern of beautiful colours, when the
sunlight fell on it.
Name and define the phenomenon involved.

'kkyw ,d nqdku ls lh-Mh- [kjhnrh gS vkSj tc og ?kj vk jgh gksrh gS rks

og ;g ns[kdj mRlkfgr gksrh gS fd tc lw;Z dh jks'kuh mlij iM+rh gS rks

mlesa lqUnj jaxksa dk Øe fn[krk gSA

izfØ;k dk uke crk, vkSj mls ifjHkkf"kr djsaA

7. Where should you place an object in front of a suitable lens to
form its real and enlarged image.
Complete the ray diagram given below to show the image
formation.

1
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mi;qDr ysUl ds lkeus oLrq dks dgk¡ ij j[ksa ftlls mldk okLrfod vkSj

cM+k izfrfcEc izkIr gksA

fuEufyf[kr fdj.k vkjs[k dks iwjk djds izfrfcEc izkIr dhft,A

Alternative question for visually challenged students

n`f"V jfgr fo|kfFkZ;ksa ds fy, oSdfYid iz'u

It is required to produce a
(i) real, inverted (ii) virtual, enlarged
(iii) real, diminished (iv) virtual, diminished
image of a given object. State the type of lens needed in each

case.

;fn ge ,d oLrq dk ,d
(i) okLrfod] mYVk (ii) izfrHkklh] cM+k
(iii) okLrfod] NksVk (iv) izfrHkklh] NksVk
izfrfcEc cukuk pkgs rks gesa bu fLFkfr;ksa esa fdl izdkj ds ySal dk mi;ksx
djuk gksxk\

8. A normal person is viewing -
(i) a distant tree
(ii) a book kept at 25cm distance.
Which of the two :
(a) the focal length, or
(b) the image distance?
undergoes a change in his/her eye? Justify your answer.

,d lkekU; O;fDr
(i) ,d nwjLFk isM+
(ii) 25 lseh dh nwjh ij j[kh ,d iqLrd dks ns[k jgk gSA
fuEufyf[kr nks]
(a) iQksdl nwjh
(b) izfrfcEc nwjh
esa ls mldh vka[k esa D;k pht cnyrh gS\ vius mÙkj dks Li"V djasA
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9. A vibrating body completes 100 cycles of its vibrations in 4
seconds. Calculate its frequency. Would this sound be audible?
Give reason.

,d nksyu djus okyh oLrq 4 lSd.M esa 100 nksyu djrh gSA bldh vko`fr

dh x.kuk dhft;sA D;k ;g èofu lqukbZ ns ldrh gS\ dkj.k crk;saA

10. Calculate the amount of C.N.G. required to produce the heat
energy of 72000 kJ if calorific value of C.N.G. is 36000 kJ/kg.

72]000 fdykstwy m"eh; mtkZ mRiUu djus ds fy, fdrus fdyksxzke lh,uth

xSl dh vko';drk gksxh tcfd lh,uth xSl dk dSyksjh eku 36]000

fdykstwy@fdyksxzke gS\

OR (vFkok)

Which gas is produced by burning carbon fuels in limited
supply of air? What are the harmful effects of this gas on

human beings?

dkcZu b±èku dks de ok;q esa tykus ls dkSu lh xSl mRiUu gksrh gS\ bl xSl

dk ekuo tkfr ij D;k izHkko iM+rk gS\

11. Thermosetting plastics can not be remoulded on heating.

Explain.

rkijksèkd IykfLVd dks rki nsdj iqu% u;h vkÑfr ugha nh tk ldrh gSA

le>kb;sA

12. A child feels more comfortable watching TV while sitting close
to it than when he sits away from it.
(i) Name the eye defect he is suffering from?
(ii) Write its two causes.
(iii) How can this defect be corrected? Draw the ray diagram.

,d cPpk Vh-oh- dks nwj ls ns[kus dh ctk; utnhd ls ns[kus esa vklkuh

eglwl djrk gSA

(i) ml n`f"Vnks"k dk uke crk, ftlls og xzflr gSA

(ii) blds nks dkj.k crk,A

(iii) ;g nks"k fdl izdkj Bhd fd;k tk ldrk gS\ vkjs[k ls n'kkZ,aA

1
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Alternative question for visually challenged students

n`f"V jfgr fo|kfFkZ;ksa ds fy, oSdfYid iz'u

What is Myopia? What are its two causes? How can it be

corrected?

fudV n`f"V nks"k D;k gS\ blds nks dkj.k D;k gSa\ ;g dSls nwj fd;k tk
ldrk gS\

13. (a) One can hear the sound of an approaching train long
before one sees it by placing the ear on the metal track.
Why?

(b) Astronauts are not able to talk directly to one another on
the moon as we normally do on the earth. Why?

(a) ,d nwj ls vkrh gqbZ jsyxkM+h dks ns[k ikus ls i;kZIr igys gh viuk dku

iVjh ij j[kdj ge mldh èofu lqu ldrs gSaA D;ksa\
(b) tSls ge lkekU; :i ls èkjrh ij vkil esa ckr dj ldrs gSa oSls

[kxksyK] pUnzek ij] vkil esa ckr djus esa l{ke ugha gksrsA D;ksa\

14. Observe the given diagram carefully and answer the following
questions :-
(a) Name the position which shows summer in the northern

hemisphere.
(b) Name the season and the associated hemisphere

corresponding to position 5.
(c) Which season corresponds to position 6?

fn;s x;s fp=k dks è;kuiwoZd ns[kdj] fuEu iz'uksa ds mÙkj nhft, %&
(a) dkSu lh fLFkfr mÙkjh xksyk¼Z esa xzh"e dky iznf'kZr djrh gS\

(b) fLFkfr 5 fdl xksyk¼Z esa dkSu ls ekSle dks bafxr djrh gS\
(c) fLFkfr 6 fdl ekSle dks fu:fir djrh gS\

1



[192]

Alternative question for visually challenged students

n`f"V jfgr fo|kfFkZ;ksa ds fy, oSdfYid iz'u
State any three conditions which make the earth as a special

and unique planet.

mu rhu ifjfLFkfr;ksa dk o.kZu dfj;s tks i`Foh dks ,d fo'ks"k rFkk vuks[kk x`g
cukrh gSaA

15. (a) What happens to the wax vapours in middle zone of flame
of a lighted candle? Why is the colour of the middle zone
yellow?

(b) Write the name of the zone of complete combustion in a
flame.

(a) tyrh gqbZ eksecÙkh ds eè; Hkkx esa ekse ok"i dk D;k gksrk gS\
eksecÙkh dh ykS dk eè; Hkkx ihyk D;ksa gksrk gS\

(b) fdlh ykS esa iw.kZ ngu ds Hkkx dk uke fy[ksaA

16. (a) What are water pollutants?
(b) How can you recognise the presence of pollutants in

water? (Write any four ways)

(a) ty iznw"kd D;k gksrs gSa\

(b) ty iznw"kd rRoksa dh igpku dSls gksrh gS\ (dksbZ pkj rjhds fyf[k;s)

17. Arrange the following in the correct sequence to treat sewage
in the sketch given below of a sewage treatment plant.
Polymer, disinfectant fluoride, coagulants, disinfectant basin,
corrosion control, coagulation basin.

fuEukafdr dks muds Øekuqlkj lek;ksftr dhft;s &
cgqyd] thok.kquk'kd ÝyksjkbMM] LdUnd] thok.kq uk'kd csflu] tax fu;U=kd]

LdUnu csflu

1
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Alternative question for visually challenged students

n`f"V jfgr fo|kfFkZ;ksa ds fy, oSdfYid iz'u

(a) Why is it safe to drink potable water only?
(b) Reena had gone to her grandfather's village in vacation.

She found that the water was not fit for drinking. Suggest
two methods for purification of water that she could use
to make water safe for drinking. Describe the methods in
brief.

(a) dsoy is;ty ihuk gh D;ksa lqjf{kr gS\

(b) jhuk NqfV~V;ksa esa vius nknkth ds xk¡o xbZA mlus ik;k fd ihus dk ikuh
ihus ds fy, ;ksX; ugha gSA ikuh dks ihus ;ksX; cukus ds fy, dksbZ nks

fofèk;k¡ crkb;sA la{ksi esa mudh O;k[;k Hkh dhft,A

18. A given lens is used to obtain a
(a) virtual, diminished image of an object.
(b) virtual, magnified image of an object.

(i) Identify the type of lens used in each case.
(ii) State the position of the object in each case.
(iii) Draw ray diagrams to show the image formation in

both the cases.

,d fn;s x;s ySal dks mi;ksx esa ykdj
(a) oLrq dk vkHkklh] NksVk izfrfcEc izkIr fd;k x;kA
(b) oLrq dk cM+k o vkHkklh izfrfcEc izkIr fd;k x;kA

(i) nksuksa voLFkkvksa esa iz;qDr fd;s x;s ySal dks igpkfu,A
(ii) nksuksa voLFkkvksa esa oLrq dg¡k j[kh xbZ gS\
(iii) nksuksa voLFkkvksa esa izfrfcEc dks n'kkZus ds fy, vkjs[k fp=k cuk;saA

Alternative question for visually challenged students

n`f"V jfgr fo|kfFkZ;ksa ds fy, oSdfYid iz'u

(a) (i) Name the type of lens used by watch makers.
(ii) Discuss how they get a magnified image while

repairing the watch.
(b) State the path of the refrected ray when the incident ray

is parallel to the principal axis in case of (i) convex lens
(ii) concave lens.

(a) (i) ?kM+h fuekZrkvksa }kjk iz;ksx fd;s tkus okys ysal dk uke crk,aA

1
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(ii) ?kM+h dh ejEer djrs le; cM+k izfrfcEc fdl izdkj izkIr gksrk
gS\ o.kZu dhft,A

(b) tc vkifrr fdj.k eq[; v{k ds lkekukUrj gksrh gS rks ,d esa
(i) mRry ysal (ii) vory ysal }kjk viofrZr fdj.k dh fn'kk D;k
gksxh\

19. (a) Name the three parts of human ear and state their
functions in brief.

(b) When a boy shouts loudly in his class room he does not
hear an echo. However, when he shouts, with the same
intensity, in a big empty hall, he is able to get an echo,
Why?

(a) ekuo d.kZ ds rhuksa Hkkxksa ds uke rFkk muds dk;ks± dk o.kZu la{ksi esa
dhft;sA

(b) tc ,d yM+dk viuh d{kk esa tksj ls fpYykrk gS rks mls viuh
izfrèofu lqukbZ ugha nsrh gSA ijarq tc og mruh gh vkokt ls ,d cM+s
[kkyh gkWy esa fpYykrk gS rks mls viuh izfrèofu lqukbZ ns tkrh gSA
D;ksa\

OR (vFkok)

Your friend is planning to buy a house in a metro city. He has
been offered a house on a busy noisy road.
(a) How would you suggest to him not to accept that offer by

staiting any two harmful effects of noise pollution?
(b) Suggest any three preventive measures that can help to

limit noise pollution.

vkidk fe=k ,d egkuxj esa ?kj [kjhnus dh ;kstuk cuk jgk gSA mls ,d ?kj
O;Lr ekxZ ij fn[kk;k x;k tg¡k cgqr 'kksj jgrk gSA
(a) èofu iznw"k.k ds gkfudkjd izHkkoksa (fdUgha nks) dk o.kZu djrs gq,

vki mls ;g ?kj u [kjhnus ds fy, dSls le>k ldrs gSa\
(b) èofu iznw"k.k dks lhfer djus esa lgk;d dksbZ rhu fuokjd mik;

lq>kb,A

20. (a) Differentiate between slow and rapid combustion with
examples.

(b) Why does white phosphorus catch fire spontaneously at
room temperature during summer?

1
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(c) Why should a person be immediately wrapped in a thick
blanket if his clothes catch fire?

(a) eUn ,oa nzqr ngu esa lksnkgj.k vUrj Li"V djsaA
(b) xehZ ds fnuksa esa 'osr iQkLiQksjl lkèkkj.k rkieku ij gh vkx idM+ ysrk

gS] D;ksa\
(c) fdlh O;fDr ds diM+ksa esa vkx yx tkus ij mls rqjar eksVs dEcy ls

D;ksa yisVuk pkfg,\

21. (a) Define natural and synthetic fibres giving examples of
each.

(b) Name the synthetic fibre which resembles wool. Why it
is used for making blankets?

(a) çkÑfrd ,oa Ñf=ke js'kksa dks mnkgj.k lfgr ifjHkkf"kr dhft,A
(b) Åu ls lekurk j[kus okys fdlh ,d Ñf=ke js'ks dk uke fyf[k,A ;s

Ñf=ke js'ks dEcy cukus esa iz;ksx gksrs gSa] D;ksa\

OR (vFkok)

(a) Why is Rayon not considered a truly artificial fibre?
(b) Write any two uses of Rayon.
(c) Which fibre is called artificial silk and why?

(d) js;ku dks iw.kZr% Ñf=ke js'ks D;ksa ugha ekuk tkrk gS\
([k) js;ku ds nks mi;ksx fyf[k,A
(x) fdl js'ks dks Ñf=ke flYd dgrs gSa vkSj D;ksa\

Section – B  ([kaM&c)
22. Manures are used in agricultural fields -

(a) just before harvesting (b) before sowing of seeds
(c) after harvesting of crops (d) only during rainy season.
tSfod [kkn Ñf"k {ks=kksa esa iz;ksx dh tkrh gS &
(a) iQly dkVus ls ,dne igys (b) cht cksus ls igys
(c) iQly dkVus ds ckn (d) o"kkZ ds fnuksa esaA

23. The organism which does not reproduce by binary fission is :
(a) Amoeba (b) Paramecium
(c) Plasmodium (d) Bacteria.

og tho ftlesa f}[kaMu fofèk }kjk iztuu ugha ik;k tkrk gS&
(a) vehck (b) iSjkehf'k;e
(c) IykTeksfM;e (d) cSDVhfj;k

1
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24. A scientist visited an agricultural field in a village and advised
the farmers regarding pesticides. Answer the following :
(a) What are pesticides?
(b) Why should the farmers minimize the use of pesticides?

,d oSKkfud us xk¡o ds ,d Ñf"k {ks=k dk Hkze.k fd;k vkSj isLVhlkbM~l ds
ckjs esa dqN lq>ko fn,A
(a) isLVhlkbM~l D;k gksrs gSa\
(b) fdlkuksa dks vius [ksrksa esa de ls de isLVhlkbM~l D;ksa bLrseky djuk

pkfg,\

25. What are perishable foods? How are they stored on a large

scale?

tYnh [kjkc gksus okys [kk| inkFkZ D;k gksrs gSa\ fo'kky iSekus ij budk
HkaMkj.k dSls fd;k tkrk gS\

OR (vFkok)

Write four characteristic features of Mexican wheat introduced

in India to bring Green Revolution.

esfDldu xsgw¡ dh pkj fo'ks"krk,¡ crk;sa ftlus Hkkjr esa gfjr Økafr ykus esa enn
dhA

26. A farmer grew wheat crop in a field in the first year; he got a
good yield. But the next year the yield was low. Suggest any
three ways to the farmer to increase the yield of his crop.

,d fdlku dh xsgw¡ dh iQly dh iSnkokj igys lky esa cgqr vPNh gqbZA
ysfdu vxys lky iQly dh iSnkokj fiNys lky ls de gqbZA ml fdlku dks
iSnkokj c<+kus ds rhu rjhds crkvksA

27. (a) Label the parts in the given
diagram of the human female
reproductive system.

(b) Name the part in human
female reproductive system
where fertilization takes place.

(a) fn, x, ekuo eknk iztuu ra=k ds fp=k esa
mlds Hkkxksa dks n'kkZ,¡A

(b) eknk iztuu ra=k ds ml Hkkx dk uke
crkb, tgk¡ fu"kspu gksrk gSA

1
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Alternative question for visually challenged students

ǹf"V jfgr fo|kfFkZ;ksa ds fy, oSdfYid iz'u

Give the functions of the following parts in human female
reproductive system : (a) oviduct (b) ovary (c) uterus.

eknk ekuo çtuu ra=k ds fuEufyf[kr Hkkxksa ds dk;Z fyf[k, &

(a) fMEcokfguh (b) v.Mk'k; (c) xHkkZ'k;A

28. What changes occur in the human male during puberty?
Mention any three changes.

ekuo ujksa esa ;kSoukoLFkk esa D;k cnyko vkrs gSa\ dksbZ rhu cnyko fyf[k,A

29. (a) Differentiate between viviparous and oviparous animals.
Give one example of each.

(b) What changes do take place in the gills and intestine of
tadpole when it changes into a frog?

(c) Name an organism where fertilization is internal but

development is external.

(a) foohiSjl vkSj vksohiSjl tUrqvksa esa D;k vUrj gS\ izR;sd dk ,d&,d
mnkgj.k nsaA

(b) VSMiksy ds es<d esa dk;kUrj.k ds le; fxYl vkSj vk¡r esa D;k cnyko
vkrs gSa\

(c) ml tho dk uke fyf[k, tgk¡ var% fu"kspu gksrk gS fdUrq fodkl
ckg~; gksrk gSA

30. (a) Why is physical exercise important for adolescents? Give
any three important advantages of it.

(b) What are the consequences of poor nutrition in
adolescents? Mention any two consequences.

(a) fd'kksjkoLFkk ds fy, 'kkjhfjd O;k;ke D;ksa vko';d gS\ blds dksbZ

rhu egRoiw.kZ ykHk crkb,A
(b) fd'kksjkoLFkk esa iks"k.k dh deh ls D;k leL;k,¡ vk ldrh gSa\ dksbZ nks

leL;k,a crkb,A

OR (vFkok)

(a) Name the hormones that lowers the blood glucose level
and name the disease a person suffers if this hormone is
not secreted in sufficient quantities.

1
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(b) What will happen if thyroxin is secreted in insufficient
quantity in the human body? Give any two effects.

(c) What will happen to a tadpole of frog if iodine is defficient
in the pond water?

(a) ml gkjeksu dk uke crkvks tks jDr 'kdZjk ds Lrj dks de djrk gS]
vkSj ml gkjeksu ls gksus okyh chekjh dk uke crkvks ;fn gkjeksu mfpr

ek=kk esa lzkfor u gksA
(b) D;k gksxk ;fn FkkbZjkfDlu euq"; esa mfpr ek=kk esa lzkfor u gks\ nks

izHkko crk,aA
(c) es<d ds cPps dks D;k gksxk ;fn rkykc ds ikuh esa vk;ksMhu dh deh

gks\
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